WSPOLRZEDNE KANALIZACI DESZCZOWE]

Wd-1
D-ist
Wd-2
D-ist
Wd-3
D-ist
R-1

D-ist
R-2

D-ist

X =5512955.76
X =5512958.56
X =5512949.16
X =5512953.37
X=5512907.81
X=5512912.34
X=5512942.73
X=5512942.14
X=5512922.21
X =5512928.29

Y =5976107.41
Y = 5976109.46
Y = 5976076.09
Y = 5976076.66
Y = 5975864.77
Y = 5975859.89
Y =5976035.43
Y = 5976035.54
Y = 5975932.96
Y = 5975940.72

TABELA PRZYKANALIKOW WPUSTOW DESZCZOWYCH

ODCINEK

(D-ist) - (Wd-1)
(D-ist) - (Wd-2)
(D-ist) - (Wd-3)

(D-ist) - (R-1)
(D-ist) - (R-2)

PRZYKANALIK

PVC ¢160
PVC 9160
PVC g160
PVC 9150
PVC 9150
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DtUGOSC
L=3,47
L=4,26
L= 6,65
L=0,61
L=9,84

Y=5976050.00
X=5512900.00
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i=3%
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Y=59/6200
X=5512950
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Y=59/6150.00
X=5513000.00
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